#### IN THE UNITED STATES BANKRUPTCY COURT FOR THE DISTRICT OF DELAWARE

In re	Chapter 11
AN GLOBAL LLC, et al.,1	Case No. 23-11294 (JKS)
Debtors.	(Jointly Administered)

Objection Deadline: October 15, 2025 at 4:00 p.m. (ET)

Hearing Date: To Be Scheduled If Necessary

SUMMARY OF FINAL APPLICATION OF HANCOCK ASKEW & CO., LLP FOR COMPENSATION FOR SERVICES RENDERED AND FOR REIMBURSEMENT OF EXPENSES AS TAX ADVISOR TO THE DEBTORS AND DEBTORS IN POSSESSION FOR THE FINAL PERIOD DECEMBER 15, 2023 THROUGH APRIL 30, 2025

Name of Applicant:	Hancock Askew & Co., LLP
Authorized to Provide Professional Services to:	Debtors and Debtors in Possession
Date of Retention:	January 17, 2024 nunc pro tunc to
Final Period for which compensation	December 15, 2023
and reimbursement are sought:  Amount of Final Compensation sought as	December 15, 2023 through April 30, 2025
actual, reasonable, and necessary:  Amount of Final Expanse Paimbursement	\$573,775.35
Amount of Final Expense Reimbursement sought as actual, reasonable, and necessary:	\$135.49

This is a(n): X monthly  $\underline{\hspace{1cm}}$  interim  $\underline{\hspace{1cm}}$  final application

The Debtors in these Chapter 11 Cases, along with the last four digits of each Debtor's federal tax identification number or registration number in the applicable jurisdiction, are: AN Global LLC (5504); AgileThought, Inc. (2509); 4th Source, LLC (7626); AgileThought Brasil Servicos de Consultoria Em Software (01-20); AgileThought Digital Solutions, S.A.P.I. de C.V. (3KR0); AgileThought México S.A. de C.V. (7E46); AgileThought, LLC (7076); AGS Alpama Global Services USA, LLC (0487); AN Extend, S.A. de C.V. (1D80); AN Evolution, S. de R.L. de C.V. (7973); AN UX, S.A. de C.V. (7A42); Cuarto Origen, S. de R.L. de C.V. (0IQ9); Entrepids México, S.A. de C.V. (OCYA); Facultas Analytics, S.A.P.I. de C.V. (6G37); Faktos Inc., S.A.P.I. de C.V. (3LLA); IT Global Holding LLC (8776); Tarnow Investment, S.L. (No Tax ID); and Anzen Soluciones, S.A. de C.V. (No Tax ID). The Debtors' headquarters are located at 222 W. Las Colinas Boulevard, Suite 1650E, Irving, Texas 75039.



### **Summary of Monthly Fee Applications:**

		Requested (\$)		Approved (\$)		
Dated Filed / Docket No.	Period Covered	Fees	Expenses	Fees (80%)	Expenses (100%)	Holdback Fee Requested
2/12/2024 D.I. 730	12/15/23- 1/31/24	\$186,320.50	\$0.00	\$186,320.50	\$0.00	\$0.00
3/12/2024 D.I. 788	2/1/2024 – 2/29/2024	\$67,977.35	\$135.49	\$67,977.34	\$135.49	\$0.00
5/7/2024 D.I. 876	3/1/2024 – 3/31/2024	\$21,718.25	\$0.00	\$21,374.60	\$0.00	\$0.00
6/25/2024 D.I. 935	4/1/2024 – 5/31/2024	\$7,555.25	\$0.00	\$7,555.25	\$0.00	\$0.00
7/16/2024 D.I. 952	6/1/2024 – 6/30/2024	\$2,842.25	\$0.00	\$2,842.25	\$0.00	\$0.00
8/27/2024 D.I. 1016	7/1/2024 – 7/31/2024	\$2,442.00	\$0.00	\$2,442.00	\$0.00	\$0.00
9/17/2024 D.I. 1032	8/1/2024 – 8/31/2024	\$5,688.50	\$0.00	\$5,688.50	\$0.00	\$0.00
11/6/2024 D.I. 1058	9/1/2024 – 9/30/2024	\$21,912.75	\$0.00	\$17,530.20	\$0.00	\$4,382.55
11/25/2024 D.I. 1134	10/1/2024 – 10/31/2024	\$20,954.25	\$0.00	\$16,763.40	\$0.00	\$4,190.85
12/19/2024 D.I. 1152	11/1/2024 – 11/30/2024	\$27,465.50	\$0.00	\$21,972.40	\$0.00	\$5,493.10
1/29/2025 D.I. 1208	12/1/2024 – 12/31/2024	\$31,291.25	\$0.00	\$25,033.00	\$0.00	\$6,258.25
2/19/2025 D.I. 1236	1/1/2025 – 1/31/2025	\$28,659.75	\$0.00	\$22,927.80	\$0.00	\$5,731.95
3/25/2025 D.I. 1249	2/1/2025 – 2/28/2025	\$56,932.00	\$0.00	\$45,545.60	\$0.00	\$11,386.40
5/2/2025 D.I. 1257	3/1/2025 – 3/31/2025	\$92,015.75	\$0.00	\$73,612.60	\$0.00	\$18,403.15
LOT LOT	TALS	\$573,775.35	\$135.49	\$517,585.44	\$135.49	\$55,846.25

Dated: September 25, 2025 Wilmington, Delaware /s/ Kenneth A. Smith

Kenneth A. Smith

Hancock Askew & Co., LLP

3740 Davinci Court, Suite 400

Peachtree Corners, Georgia 30092

Telephone: (770) 246-0793

Tax Advisor for the Debtors and Debtors in

Possession

## FINAL COMPENSATION BY PROFESSIONAL DECEMBER 15, 2023 THROUGH APRIL 30, 2025

Timekeeper Name	Position	Hourly Rate	Total Hours Billed	Total Compensation
Collins, Charlie M.	Associate Staff	210.00	12.4	\$2,604.00
Farmer, Hannah A.	Associate Staff	210.00	34.5	\$7,245.00
Namrata Katrodiya	Associate Staff	210.00	3.0	\$630.00
Nikhil Lalwani	Associate Staff	210.00	2.0	\$420.00
Palmer, Kristen	Associate Staff	210.00	0.5	\$105.00
Sarvaiya, Akshay	Associate Staff	210.00	3.5	\$735.00
Sarvaiya, Akshay	Associate	65.00	1.0	\$65.00
Shekhawat, Pradeep	Associate Staff	210.00	3.5	\$735.00
Tuley, Daniel	Associate Staff	210.00	29.1	\$611.00
Tuley, Daniel	Associate/Intern	225.00	42.9	\$9,652.50
Tuley, Daniel	Associate/Intern	241.80	12.5	\$3,022.50
Tuley, Daniel	Associate/Interm	285.00	119.6	\$34,086.00
Lopez, Amanda L.	Associate Staff	210.00	30.0	\$6,300.00
King, Jerome	Senior Associate	250.00	140.76	\$31,998.79
King, Jerome	Senior	275.00	0.25	\$66.25
King, Jerome	Senior	285.00	0.50	\$142.50
Lopez, Julio C.	Senior Associate	250.00	9.4	\$2,350.00
Goodman, Ethan J.	Supervisor	270.00	76.1	\$20,047.66
Goodman, Ethan	Supervisor	285.00	2.0	\$570.00
Ireland, Cecilia L.	Supervisor	270.00	82.05	\$21,456.31
Ireland, Cecilia	Supervisor	285.00	77.2	\$22,002.00
Ireland, Cecilia	Supervisor	295.00	95.8	\$28,261.00
Bhosale, Vitthal	Manager	350.00	2.0	\$700.00
Kasula,, Raju	Manager	350.00	5.0	\$1,750.00
Kranz, Matthew	Manager	350.00	9.2	\$3,220.00
Pendilla, Kristine A.	Manager	350.00	172.55	\$55,406.70
Pendilla, Kristine A.	Manager	370.00	24.5	\$8,671.87
Pendilla, Kristine A.	Manager	375.00	49.75	\$18,656.25
Hines, Christopher	Senior Manager	375.00	174.2	\$60,100.99
Hines, Christopher	Senior Manager	376.13	12.4	\$4,664.00
Hines, Christopher	Senior Manager	395.00	79.8	\$31,521.00
Wiseman, Nicole L.	Senior Manager	375.00	60.65	\$22,245.96
Rendziperis, George	Director	395.00	52.5	\$19,770.5
Rendziperis, George	Director	450.00	2.0	\$900.00
Smith, Ken A.	Principal	395.00	97.3	\$34,281.14
Smith, Kenneth A.	Partner	440.00	36.95	\$16,258.00
Smith, Kenneth A.	Partner	475.00	36.4	\$17,290.00
Smith, Ken A.	Partner	495.00	14.3	\$3,301.55
Leonard, Stephen	Partner	495.00	3.3	\$1,368.97
Petrino, Catherine	Manager	350.00	0.25	\$71.48
Windholtz, Timothy F.		†	5.25	\$1,729.39
Evans, C.J.	Director  Director	395.00 395.00	0.5	\$1,729.39
Nguyen, Hieu	Associate Staff	350.00	1.75	\$345.16
McCann, Catherine	Associate Staff Associate	225.00	0.9	\$202.50
Sharma, Suman	Associate	225.00		\$787/50
Ovalle, Abraham		†	3.5	
	Associate/Intern  Manager	155.00		\$1,627.50 \$8,325.00
Henderson, Courtney	Manager	370.00	22.5	\$8,325.00
Henderson, Courtney	Manager	375.00	16.5	\$6,180.00

## Case 23-11294-JKS Doc 1412 Filed 09/25/25 Page 5 of 11

Chivington, Brittany	Manager	370.00	14.15	\$5,235.50
Chivington, Brittany	Manager	375.00	72.05	\$27,018.75
Butcher, Evan	Associate/Intern	240.00	45.55	\$12,375.00
Butcher, Evan	Associate/Intern	225.00	55.0	\$10,932.00
Touchstone, Blake	Associate/Intern	240.00	0.25	\$60.00
GRAND TOTAL			1860.01	\$573,775.35

# FINAL EXPENSE BY CATEGORY DECEMBER 15, 2023 THROUGH APRIL 30, 2025

	<b>Expense Category</b>	Amount
Postage		\$135.49
TOTAL		\$135.49

## IN THE UNITED STATES BANKRUPTCY COURT FOR THE DISTRICT OF DELAWARE

In re: Chapter 11

AN GLOBAL LLC, et al.,<sup>1</sup> Case No. 23-11294 (JKS)

Debtor. (Jointly Administered)

Objection Deadline: October 15, 2025 at 4:00 p.m. (ET)

Hearing Date: To Be Scheduled If Necessary

# FINAL APPLICATION OF HANCOCK ASKEW & CO., LLP FOR COMPENSATION FOR SERVICES RENDERED AND FOR REIMBURSEMENT OF EXPENSES AS TAX ADVISOR TO THE DEBTORS AND DEBTORS IN POSSESSION FOR THE FINAL PERIOD DECEMBER 15, 2023 THROUGH APRIL 30, 2025

Pursuant to sections 330 and 331 of title 11 of the United States Code, §§ 101-1532 (the "Bankruptcy Code"), rule 2016 of the Federal Rules of Bankruptcy Procedure (the "Bankruptcy Rules"), and in accordance with that certain *Order Authorizing the Retention and Employment of Hancock Askew & Co., LLP as Tax Advisor to the Debtor and Debtor in Possession Pursuant to Section 327(a) of the Bankruptcy Code, Bankruptcy Rules 2014(a) and 2016, and Local Rule 2014-1, Effective as of December 15, 2023* [Docket No. 633] (the "Retention Order"), the *Order (I) Establishing Procedures for Interim Compensation and Reimbursement of Expenses for Retained Professionals and (II) Granting Related Relief* [Docket No. 169] (the "Interim Compensation Order"), Hancock Askew & Co., LLP ("Hancock") hereby applies (the

The Debtors in these Chapter 11 Cases, along with the last four digits of each Debtor's federal tax identification number or registration number in the applicable jurisdiction, are: AN Global LLC (5504); AgileThought, Inc. (2509); 4th Source, LLC (7626); AgileThought Brasil Servicos de Consultoria Em Software (01-20); AgileThought Digital Solutions, S.A.P.I. de C.V. (3KR0); AgileThought México S.A. de C.V. (7E46); AgileThought, LLC (7076); AGS Alpama Global Services USA, LLC (0487); AN Extend, S.A. de C.V. (1D80); AN Evolution, S. de R.L. de C.V. (7973); AN UX, S.A. de C.V. (7A42); Cuarto Origen, S. de R.L. de C.V. (0IQ9); Entrepids México, S.A. de C.V. (OCYA); Facultas Analytics, S.A.P.I. de C.V. (6G37); Faktos Inc., S.A.P.I. de C.V. (3LLA); IT Global Holding LLC (8776); Tarnow Investment, S.L. (No Tax ID); and Anzen Soluciones, S.A. de C.V. (No Tax ID). The Debtors' headquarters are located at 222 W. Las Colinas Boulevard, Suite 1650E, Irving, Texas 75039.

"Application") to the United States Bankruptcy Court for the District of Delaware (the "Court") for reasonable compensation for professional services rendered as tax advisor to the above captioned debtors and debtors in possession (the "Debtors") in the amount of \$573,775.34, together with reimbursement for actual and necessary expenses incurred in the amount of \$135.49 for the period December 15, 2023 through April 30, 2025 (the "Final Fee Period"). In further support of this Application, Hancock respectfully represents as follows:

#### **BACKGROUND**

- 1. On August 28, August 29, September 1, 2023, October 6, 2023, and December 28, 2023 (as applicable, the "Petition Date"), the Debtors commenced their bankruptcy cases by filing voluntary petitions for relief under chapter 11 of the Bankruptcy Code (the "Chapter 11 Cases"). The Debtors are operating their businesses as debtors-in-possession pursuant to sections 1107(a) and 1108 of the Bankruptcy Code.
- 2. On September 7, 2023, the United States Trustee for the District of Delaware (the "<u>U.S. Trustee</u>") appointed an official committee of unsecured creditors (the "<u>Committee</u>"). *See* Docket No. 98. No request has been made for the appointment of a trustee or examiner. On December 31, 2023, the sale of certain of the Debtors' assets closed. *See* Docket No. 602.
- 3. Hancock was retained effective as of December 15, 2023 pursuant to the Retention Order. The Retention Order authorized Hancock to be compensated on an hourly basis and to be reimbursed for actual and necessary out-of-pocket expenses.
- 4. On January 3, 2025, the Debtors filed the *Notice of Filing of Statements of Work*Pursuant to Order Authorizing the Retention and Employment of Hancock Askew & Co., LLP as

  Tax Advisor to the Debtors and Debtors in Possession Pursuant to Sections 327(a), 328(a), and

  330 of the Bankruptcy Code, Bankruptcy Rules 2014(a) and 2016, and Local Rules 2014-1 and

2016-2, Effective as of December 15, 2023 [Docket No. 1162] amending and supplementing the scope of Hancock's employment.

#### **SUMMARY OF SERVICES RENDERED**

5. Hancock incurred fees for necessary professional services in the amount of \$573,775.34 for the Final Fee Period. Detailed statements of fees incurred by Hancock during the Final Fee Period (other than the Monthly Fee Period) were attached as <u>Exhibit A</u> to the previously filed monthly fee applications.

#### ACTUAL AND NECESSARY EXPENSES

6. Hancock has incurred out-of-pocket expenses in the amount of \$135.49 for the Final Fee Period. Summaries of actual and necessary expenses and daily logs of expenses incurred by Hancock during the Final Fee Period (other than the Monthly Fee Period) were attached as Exhibit B to the previously filed monthly fee applications.

#### **VALUATION OF SERVICES**

- 7. Tax professionals of Hancock have expended a total of 1,860.01 hours in connection with this matter during the Final Fee Period.
- 8. The amount of time spent by each of these persons providing services to the Debtors for the Final Fee Period is \$573,775.34. These are Hancock's normal hourly rates of compensation for work of this character.
- 9. In accordance with the factors enumerated in section 330 of the Bankruptcy Code, the amount requested is fair and reasonable given (a) the complexity of these chapter 11 cases, (b) the time expended, (c) the nature and extent of the services rendered, (d) the value of such services, and (e) the costs of comparable services other than in a case under this title.

Case 23-11294-JKS Doc 1412 Filed 09/25/25 Page 10 of 11

10. This Application covers the Final Fee Period from December 15, 2023 through and

including April 30, 2025.

**CONCLUSION** 

WHEREFORE, Hancock respectfully requests allowance be made to it in the sum of

\$573,775.35 as compensation for necessary professionals services rendered for the Final Fee

Period, and the sum of \$135.49 as reimbursement of actual and necessary costs and expenses

incurred for the Final Fee Period, and requests such other and further relief as the Court may deem

just and proper.

Dated: September 25, 2025

/s/ Kenneth A. Smith

Kenneth A. Smith

Hancock Askew & Co., LLP

3740 Davinci Court, Suite 400

Peachtree Corners, Georgia 30092

Telephone: (770) 246-0793

Tax Advisor for the Debtors and Debtors in

Possession

Case 23-11294-JKS Doc 1412 Filed 09/25/25 Page 11 of 11

**VERIFICATION** 

I, Kenneth A. Smith, pursuant to 28 U.S.C. § 1746, declare under penalty of perjury:

(a) I am a Partner with the applicant firm Hancock Askew & Co., LLP

("Hancock").

(b) I have personally performed many of the tax advisory services rendered by

Hancock on behalf of the Debtors and am familiar with all other work performed on behalf of the

tax professionals at the firm.

(c) The facts set forth in the foregoing Application are true and correct to the

best of my knowledge, information and belief.

/s/ Kenneth A. Smith

Kenneth A. Smith

## IN THE UNITED STATES BANKRUPTCY COURT FOR THE DISTRICT OF DELAWARE

In re Chapter 11

AN GLOBAL LLC, et al.,<sup>1</sup> Case No. 23-11294 (JKS)

Debtors. (Jointly Administered)

Objection Deadline: October 15, 2025 at 4:00 p.m. (ET)

Hearing Date: To Be Scheduled If Necessary

NOTICE OF FINAL APPLICATION OF HANCOCK ASKEW & CO., LLP FOR COMPENSATION FOR SERVICES RENDERED AND FOR REIMBURSEMENT OF EXPENSES AS TAX ADVISOR TO THE DEBTORS AND DEBTORS IN POSSESSION FOR THE FINAL PERIOD DECEMBER 15, 2023 THROUGH APRIL 30, 2025

PLEASE TAKE NOTICE that Hancock Askew & Co., LLP (the "Applicant"), tax advisor to the above-captioned debtors and debtors in possession (collectively, the "Debtors"), filed the Final Application of Hancock Askew & Co., LLP for Compensation for Services Rendered and for Reimbursement of Expenses as Tax Advisor to the Debtors and Debtors in Possession for the Period December 15, 2023 Through April 30, 2025 (the "Final Fee Application") pursuant to the Order (I) Establishing Procedures for Interim Compensation and Reimbursement of Expenses of Professionals, and (II) Granting Related Relief [Docket No. 169] (the "Interim Compensation Order").

The Debtors in these Chapter 11 Cases, along with the last four digits of each Debtor's federal tax identification number or registration number in the applicable jurisdiction, are: AN Global LLC (5504); AgileThought, Inc. (2509); 4th Source, LLC (7626); AgileThought Brasil Servicos de Consultoria Em Software (01-20); AgileThought Digital Solutions, S.A.P.I. de C.V. (3KR0); AgileThought México S.A. de C.V. (7E46); AgileThought, LLC (7076); AGS Alpama Global Services USA, LLC (0487); AN Extend, S.A. de C.V. (1D80); AN Evolution, S. de R.L. de C.V. (7973); AN UX, S.A. de C.V. (7A42); Cuarto Origen, S. de R.L. de C.V. (0IQ9); Entrepids México, S.A. de C.V. (OCYA); Facultas Analytics, S.A.P.I. de C.V. (6G37); Faktos Inc., S.A.P.I. de C.V. (3LLA); IT Global Holding LLC (8776); Tarnow Investment, S.L. (No Tax ID); and Anzen Soluciones, S.A. de C.V. (No Tax ID). The Debtors' headquarters are located at 222 W. Las Colinas Boulevard, Suite 1650E, Irving, Texas 75039.

PLEASE TAKE FURTHER NOTICE that objections, if any, to the Final Fee Application must be made in accordance with the Interim Compensation Order and must be filed with the Clerk of the United States Bankruptcy Court for the District of Delaware, 3rd Floor, 824 North Market Street, Wilmington, Delaware 19801 and served upon and actually received by the following parties, on or before October 15, 2025 at 4:00 p.m. (ET) (the "Objection Deadline"): (i) co-counsel to the Debtors, Hughes Hubbard & Reed LLP, One Battery Park Plaza, New York, NY 10004-1482 (Attn: Kathryn A. Coleman, Esq. (katie.coleman@hugheshubbard.com) and Jeffrey S. Margolin, Esq. (jeff.margolin@hugheshubbard.com)), and Potter Anderson Corroon LLP, 1313 N. Market Street, Wilmington, DE 19801 (Attn: Jeremy W. Ryan, Esq. (jryan@potteranderson.com), and Gregory J. Flasser, Esq. (gflasser@potteranderson.com)); (ii) the U.S. Trustee, 844 King Street, Suite 2207, Lockbox 35, Wilmington, Delaware 19801 (Attn: Benjamin Hackman, Esq. (benjamin.a.hackman@usdoj.gov)); (iii) counsel for the DIP Agent, Ropes & Gray LLP, 1211 Avenue of the Americas, New York, NY 10036-8704, (Attn: Gregg Galardi, Esq. (gregg.galardi@ropesgray.com), Leonard Klingbaum, Esq. (Leonard.Klingbaum@ropesgray.com) and Lindsay Barca, Esq. (lindsay.barca@ropesgray.com)) and Chipman Brown Cicero & Cole, LLP, 1313 N. Market Street Suite 5400, Wilmington, DE 19801 (Attn: Mark L. Desgrosseilliers, Esq. (desgross@chipmanbrown.com)); and (iv) proposed counsel to the Committee, Pachulski Stang Ziehl & Jones LLP, 919 N Market St # 1700, Wilmington, DE 19801 (Attn: Bradford J. Sandler, Esq. (bsandler@pszjlaw.com).

Case 23-11294-JKS Doc 1412-1 Filed 09/25/25 Page 3 of 4

PLEASE TAKE FURTHER NOTICE that a hearing to consider the Final Fee

Application will be held before The Honorable J. Kate Stickles at the United States Bankruptcy

Court for the District of Delaware, 824 North Market Street, 5th Floor, Courtroom No. 6,

Wilmington, Delaware 19801 on a date to be determined, if necessary.

PLEASE TAKE FURTHER NOTICE THAT IF YOU FAIL TO RESPOND IN

ACCORDANCE WITH THIS NOTICE, THE COURT MAY GRANT THE RELIEF

REQUESTED IN THE APPLICATION WITHOUT FURTHER NOTICE OR HEARING.

Remainder of page intentionally left blank.

3

Dated: September 25, 2025 Wilmington, Delaware Respectfully submitted,

/s/ James R. Risener III

Jeremy W. Ryan (No. 4057) R. Stephen McNeill (No. 5210) Gregory J. Flasser (No. 6154) James R. Risener III (No. 7334)

#### POTTER ANDERSON & CORROON LLP

1313 North Market Street, 6th Floor Wilmington, Delaware 19801

Telephone: (302) 984-6000 Facsimile: (302) 658-1192

E-mail: jryan@potteranderson.com rmcneill@potteranderson.com gflasser@potteranderson.com jrisener@potteranderson.com

-and-

Kathryn A. Coleman Christopher Gartman Jeffrey S. Margolin

#### **HUGHES HUBBARD & REED LLP**

One Battery Park Plaza New York, NY 10004-1482 Telephone: (212) 837-6000 Facsimile: (212) 422-4726

Email: katie.coleman@hugheshubbard.com chris.gartman@hugheshubbard.com jeff.margolin@hugheshubbard.com

Counsel for the Debtors and Debtors in Possession